B VCE & PDF https://lwww.geekcert.com/hcispp.html
' 2024 Latest geekcert HCISPP PDF and VCE dumps Download
: GeekCert.com

HCISPPReAS

HealthCare Information Security and Privacy Practitioner

Pass ISC2 HCISPP Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/hcispp.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by ISC2
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest HCISPP Dumps | HCISPP VCE Dumps | HCISPP Braindumps 1/3


https://www.geekcert.com/hcispp.html
https://www.geekcert.com/hcispp.html
https://www.geekcert.com/hcispp.html

VCE & PDF https://www.geekcert.com/hcispp.html
2024 Latest geekcert HCISPP PDF and VCE dumps Download

GeekCert.com

QUESTION 1

True or False? Globalization of health care has produced positive effects in both developed and developing countries.
A. True

B. False

Correct Answer: B

QUESTION 2

Under HIPAA Administrative Simplification, what must covered entities do in relation to submission of claims?
A. Provide standardized format in electronic or paper form

B. Request permission for use of specific privacy software

C. Purchase and install approved privacy software

D. Provide standardized electronic claim formatting

Correct Answer: D

Under HIPAA Administrative Simplification, covered entities must provide standardized electronic claims’

QUESTION 3

Which is not an underlying assumption of a theoretical model of costs and health outcomes?
A. The relevant outcome is the overall health of a population rather than of an individual.

B. It is possible to quantify health at a population level.

C. It is necessary to focus on health outcomes, those aspects of health status directly under the influence of health
care.

D. Itis impossible to reduce cost without also reducing health outcomes.

Correct Answer: D

QUESTION 4
Vertical integration refers to an organization model that under one ownership.
A. Contains all levels of care, from primary to tertiary

B. Provides the necessary staff for this full spectrum of care
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C. Provides the necessary facility for all levels of care
D. All of the above.

Correct Answer: D

QUESTION 5

Substance abuse regulations do not allow disclosure with a subpoena unless a court has issued an order following a
show cause hearing.

A. True
B. False

Correct Answer: A
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